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u
asic cuts
4
2
eltas from x2

[ Kin 1 L.pri2.trx |

g -th)<0.05)- f ((L.tr.tg_-th)
ph)<0.025) :f{(L.tr.th)h)>

L. evtypebits&f1<<2))) : (L4

[ Kin 1 L.pri2.try |

104

10°

102

10

1

((((((fabs(i!_.lr.lg_dp) £0.04) : ((L-tr.tg_dp)3
((fabis(L.(r.thh)<0.05) : ({L.tr.tg_th)
((fahs(L.:!r.thh)<0.025) : ((Litr.tg_ph)>:

=
o i
e = N N
e 1
2 =
- -
B ]
s e ; :
= S :

Illk T TTTTIT

1 —0.8 —06 —0.4 —0.2

L.prl2.trx

[ Kin 15 L.pri2.trx |

10? =

10 =

115 2
L.pri2.trx



| Kin 1 L.pri1.e/1000 |

Signal in the PRL

— Basic cuts
— X1
X2

ts

104

=ou

e 1

4 :

>

= 2
J I
: I
K 1,
s 1

R AT
=

[
(=)
|

= PR G % 1 5 5 § URRRRAY

S ap "

[

e e e

——— Deltas from x2

—— Good electrons

((f((((fabs(L.tr.tngdp)<0.04) ((L-tr.tg_dp)=-0.035))
\ : : g

itg_th)<0.05) :: ((L.tr.tg_th)}-0.05)))
0.025)))

r.n==1))

0.5

=)

1

| Kin 1 L.pri2.e/1000 |

4
L.prll.e/1000

— Basic cuts

— X1
X2

——— Deltas from x2
—— Good electrons

-0.035))
-0.05)))
0.025)))

r.n==1))

3.5
L.prl2.e/1000

4

| Kin 15 L.pri1.e/1000 |

10°

10?2

10

e

— Basic cuts
— X1
X2

~—

.:

=

{(fabs(L.tr.tg_ph)<0.025) :

((L.tr.tg_ph)>{0.025)))
n==1))

~——— Deltas from x2

—— Good electrons

p)=-0.035))

.3.

T35 4

L.prll.e/1000

-0.05)))

— Basic cuts
— X1
X2

~—— Deltas from x2

—— Good electrons

h)b-0.

3
L.prl2.e/1000

-0.035))

05)))

r.n==1))



Sampling
* Acceptance cuts:
- Dp -0.35-0.4 : th +- 0.05: ph +- 0.025
— Trigger cut: track cut
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Before we account for
contamination
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Apply a threshold cut in prl2
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